Model Paper
Mathematics (New)
10™ (Fresh/Reappear)

Note: Time allowed for Section — B and Section — C is 2 Hours and 40 minutes.

Section - B Marks: 36
Q-1 Attempt any NINE parts. Each part carries FOUR marks.

1. Solve the equation x2-x-42=0
2. Prove that (1 + 2m) (1 + 20?) (1 — ® — ©°) = 0
3. Solve by quadratic formula, xX2-2x-6=0
4. If 2x = 3:15=12:30. Then find the value of X.
5. If 2a+3b:20+3d,then prove thata:b=c:d
2a-3b 2c-3d

6. Resolve into partial fractions. ——

(x+MN(x+2)
7. Write domain and range of the given relations, Ry = {(x, 3), (y, 1)}, R2 ={(x, 1), (x, 2), (y, 3)}
8. fu={1,2,3,....... 50}, A={1,3,5........ 49}and B ={2,4,6, ....... 50}, then find.

i. AnB i. AUB
9. Find the arithmetic mean of the 4, 6, 10, 12, 15, 20, 25, 28, 30.
J1-Sin?6

10. Prove that ——=Cot0
11. A ladder makes an angle of 60° with the ground and reaches a height of 10m along the

wall. Find the length of the ladder.
12. x and y vary inversely and y = 12 for x = 5. Find y if x = 15.

Section-C Marks: 24
Note : Attempt any THREE questions. All questions carry equal marks.

Q-lll  Prove that the perpendicular from the centre of a circle on a chord bisects it.
Q-IV  Prove that the tangent to a circle and the radial segment joining the point of contact and the
centre are perpendicular to each other.

Q-V  Construct a triangle, when mAB=6cm, mBC=7cm and mCA=9cm. Draw perpendicular bisectors of its sides
and circumscribe a circle.

Q-v| Inscribe a regular HEXAGON in a circle of radius 6m.
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